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Seed wakefields

Calculate the transverse seed wakefields for the SMI-SSM transition point at
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Seed wakefields - formulas

[ he transverse WakEfield:
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with their dependency of the long. wakefields R(r) :
r [aé]
R(r) = K2Ko(kper) A P (7)o (kper’)dr' + K2 T (Kper) X 'y, (r')Ko (kper')dr’

And

dR(r)
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+k§,€ﬁ3(kpgr)rnh_(r)Kg(kpgr) — kieh(kpgr)l r'iyy (r')Ko(kper” )dr’.

Ko, Ky, 1os1; are Bessel function



Seed wakefields

The Result: W, (§)
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Seed wakefields

The Result: at §=1.8 0, W, = 8.5 MV/m
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(layout to be improved)
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